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UNNU punhwinip wuydwtbbtph hwdwdwyt’ wijuwp wynnpwuph htnbwipny winidnnht
yuundwnjuwd wbdtwljut b gnypwyhtt Juwuh swthhg' hwwnnigdwt swthp sh Jupnn
gipuquiugt] UNMU wquydwtwgpnid tpdws wyywhnjugpujut gnudwpp: Uywhndugpuljut
gniduptt UNMU wuwwnwhwph ghypmd wywhnjugpujut puykpnipjut Ynndhg nnidnnht
Jlwpdwb kupulu wmywhnjugpuljut hwnnigduh wnwytjugnyyt swht E, npp juqunud k.

*  Uhdbwluib Juwuutph nhypnid®
v Ukl wywhnjugpujwi wquwwnwhwph hwdwp® 33,000,000 22%
v 8nipwpwbgynip winidnnh hwdwp' 3,300,000 22

*  Qmjpuyht Juwubtikph nhypnd®
v Ukl wywhnjugpuljui wuwwnwhwph hwdwp® 18,000,000 22%
v 8nipwpuwibgnip winidnnh hwdwp' 1,800,000 227

Cun npnud, Epk Juwuttp Ypt) B dEhhg wybh wudhbp, b wyp Juwutbph pinhwinip gnidwpp
gipwquugnid L pun  nipwpwbynip  wywhnjugpuljwt  wwwnwhwph  wwhdwidws
wywhnjugpujutt  gnidwpp, www bpwbghg pipupwbsnipht wywhnjugpuljut
huwwnnignudutpp Jdwpymud b Juuutbph pughwinip gnudwpnud  tputg yundwundws
Juwutbph suhbphtt hwdwdwutnpbt® punn jmupupwtynip wywhnjugpuju yuwwnwhwph
gony uwhdwiwsé wwywhnjugpuljutt gnudwph  wwhdwbbbpnud: Uy ghwypnud, bpp
wnnmdnnutphg dkjh (Yud dh pwuhuh) hwdwp hwdwdwutnpit hwodupldws gnidwpp
(gnudwptbphg jnipupwisinipp) gipwquugnid £ pun jmupupwtgnip ninidnnh vwhdwtus
wywhnjugpujut gnidwupp, wyw ghpuquignn dwuny (Uwubkpny) hwwnnigynid Eu djniu
wnnidnnibphtt yundwnws Juuwutbpp wyy Juwukphtt hwdwdwubtnpb® pun nipupwisnip
wnnidnnh nwhdwtijwsd wywhnjugpuljut gniduph vwhdwbbpnud:
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Stnh E mubkghp UNNU wwwnwhwp, nph hbnbwipny hwnmgdwb tupwulu wbdbwljut
Juwutbp Bu Ypk) 4 wudhup' hknlbju) suhny.

*  1-ht vimdnn’ 3,300,000 227

*  2-py winudng 25,700,000 227

*  3-p winudng 25,700,000 227

*  4-py winudng” 3,300,000 227

Zunnigdwt kupulju gnidwph hwpgupy.

Uduinypuph htntwipny wundwnyws pughwinip Juwup juqunud 58,000,000 227 Zhdp
pupnitbingd  wytt  hwbqudwpp, np wdbwut Juwubbkph  wpwybjugny  gnidwpp
mipupwtsinip yuwwnwhwph hwdwp vwhdwtdws k 33,000,000 22%, jnipupwisnip winidnnht



Jdwpdub Eipulju wywhnjugpuljut hwinnmigdw swthp hwpduplyybnt £ hhup punniuking
ywsd vwhdwbwswthp b hpujutwgytnt £ hbknlju) nmpudwpwutnipjudp.

w/ wbhpwdbon E hwodupll) jmipwpwbynip wnidnnptt wuwwndwndws Juwuh swiph
wnbuwjupup Yohep Juwuh punghwinip gnudwph dky.

* 1-ht vinidny’ whuwuwpup Yohop 6% k (3,300,000/58,000,000 * 100%)
*  2-pn vinidnn’ nhuwljupup Y2hnp 44% E (25,700,000/58,000,000 * 100%)
*  3-pn vinidnn’ nhuwljupun Y2hnp 44% E (25,700,000/58,000,000 * 100%)
*  4-pnp winudnn’ wnkuwlupup Yohep 6% k (3,300,000/58,000,000 * 100%)

P/ wjunithbnlb hwoquplymd £ jmipupwibygnip ninidnnhtt Jdwpynn wuywhnjugpuljut
hwwnnigdwt swthp.

*  1-ht vindny’ 1,980,000 227 (33,000,000 * 6%)
* 2-pnwinidnn’ 14,520,000 22 (33,000,000 * 44%)
* 3-pip winidnn” 14,520,000 227 (33,000,000 * 44%)
*  4-pnwinudng’ 1,980,000 22% (33,000,000 * 6%)

Uju gbhwypnid 2-py b 3-p winidnnubphtt ydwpynny wywhnjugpujutt hmnnigdwi gnidwpp
gipuquugnid £ wnwykjwgnyt vwhdwidws 3,300,000 222-p* 11,220,000 —mlwt 22F-h swthny,
niunnh 2-py b 3-pp wnidnnubphg jnipupwiymiphtt jdwpyh wnwybjugnyup® 3,300,000 22
gnidwn:

Pugh wynp 1-ht b 4-pp wnnidnnubphtt Jdupybihp hwnnigdwt swtht wdbh phy E pwl
wnwybkjugniy hwnnigdwt tupwlw gnidwpp, ntunh hwpygh wntubny twlb wyl, np 1-htt b 4-pn
nnudnnutiph mbkuwlwpwup Yohet punhwinip Jowuh dbe hwjwuwp k, wyw Jbpeohuttiphu
Jdwpuut Eupwluw hwunnigdwt swithp Yuquh 13,200,000 227F (1,980,000+11,220,000), npp
gipwquugnid £ wbdbwlwt Juwuubph hwdwp prpwpwbsmip winidnnhtt hwnljugynn
wywhnjugpujuit gnudwph wpwybjugny swithp® 3,300,000 227F-u, ntunh 1-ht b 4-py
wnnidnnutphtt yfwupynn hwnnigdw suthp bu Yyuquh 3,300,000 227
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Stnh E niukgh] UNMU wuwnwhwp, nph hknbwtpny Juwuyty k11 dbkpkuw’ ubpunju) dknuynp
Jupnpph dbpkuwi: Uknuynpnipinit snitbgnn Jupnppubph dbpktwtbphg mipwpwisniph
Juwup 3,000,000 227 E, punhwnip Juwup® 30,000,000 227

Zunnigdwt gnidwph hwpduply.

Zhdp punniubiny wjt hwiquuwipp, np gnypuwyhtt Juwutbph phypnid wywhnjugpuljut
hwinnigdut wnwybjwgnyt gnidwpp 18,000,000 22% E, htyybu twlb wjt np todwd nhuypnid
nnidws  dbphbwbwibptt nubtt Juwuh swthh tnyt® 10% hwdwdwutnipniip, niunh
mipupwtsjnip Jupnpn junnwbw 18,000,000 22F-h 10%-h swthny hwnnignid, wijuhtipt 1,800,000
22 qnudwp:



